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1.

（1）（ⅰ）（ア）　＋ 7 （イ）　 ClO–

（ⅱ）（ウ）　 1.00× 10−8 （エ）　 1.41× 10−5 （オ）　 4.00× 10−12 mol3/L3

（カ）　 5.00× 10−2

（2）（ⅰ）（キ）　 Cu2S

（ⅱ）（ク）　 4.25× 105 （ケ）　 20.7（2.07× 10） （コ）　 Fe

（サ）　 5.6

2.

（1）（ア）　 10asdsVs

Ms(Vw + Vs)
（イ）　 asdsVs

dwVw + dsVs
（ウ）　 (2CAVA − CBVB)RT

P

（2）（エ）　 −208（−2.08× 102） （オ）　 3.00× 105

（カ）　 33.6（3.36× 10） （キ）　 b （ク）　 c

（3）（ケ）　 5.00× 103 （コ）　 7.20 （サ）　 0.828（8.28× 10−1）
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3.

（1）（ア）　 C11H14O3 （イ）　アセチルサリチル酸
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（ク）　 142（1.42× 102）

（3）（ケ）　アミロース （コ）　包接 （サ）　 7.68

（4）（シ）　NH2 CH

CH2

OH

C

O

OH （ス）　 341（3.41× 102）


